k=

B (4.17) KX, A B (4.18) X, 7T 401, NE ~ rNE 2

ry" :i {[(X2Xl)(lA::p+2(}i+iF)p)22+Zl]}+§blzl +§b2Z2 +§ < +§ €2 m (4.17)
NE_ 1 A+B+2E+2F A+B+E+F 2
R {[(szl)(l 7o (1 v)p)zﬁzl]} o) 7o G rm] 317
+§b2Z2+§C1+§C2 """""""""""""""""""""""""""" (418)
Hogo:
A=
(x2—x1) {(alxl +K;) [(1 —7)(1—hp) +(1 —p)] —(K,—Kq)[(1—p)—hp(1 _hp)]}
B=
(=2, +2z ){a;x;[(1—hp) — 7.p(1 =h)] + (Kz=K; ) [~ (1—hp)+ 7 p(1+h)]}
E=
(%2 — x){[(1—=p)(1+ 7 +hp) H(ax, +K3) 4 (Ky— Ky) |+ 7 (X, —%x1) [~y p+Yyhp]
+ [ x W —yp)~2z3+2; ][1_ Y hp] }
F=
(—zz+z){[— v p+ v hp+1=hpH(ax; £K;)4 (K; —K;) |+ 7 (X, —x1)[—¥p+¥hp]
+[(xz —x0)((Y—=yYhp) — 2z, + 7, |}
.0y

(6pK; —4 v pK, —12 v pK; —10hp?K; —2 7 h3p3K, + 15 v hp?K; — 6 1 h?p3K,
+8h?p?K, —4h?p3K, —2p?K, —4 y p?K, + 7 p?K, —2hp*K, +9 7 pK,

2 2 2
+4v h?p?K,—47 pK,+47 p?K; —67hp3K,+4 7y hp3K, +6hp?K,

2
+ 3y hp’K, —2hp’K, —27 p’K;) x4

+6 7 h?p3K; —8h2p3K; +4h?p3K, +2p?K; +4 v p?K, — v p?K; +2hp3K,

2 2 2 2
_97 pK1_4T h2p2K1+4T pK2_4T p2K1+6Thp3K2_4Thp3K1_6hp2K2
2
—3 v hp?K; +2 hp3K,+2 7 p?K,) x,
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2 2 2
+127 thZKZ_gT h2p2K1+4Thp2K2_Tp2K1_3Thp2K1_4T hpZKZ

2
+ Thp2K1+ Y p2K1) Zq

+ (—6K, +12hpK, — 12(hp)2K, +9 7 K, —24 9 hpK, +9 7 h2p2K, +6(hp)?K,
+2pK; —6 7 K, +6 7 pK, —5 v pK; —6hp?K, +4hp?K; + 12 7 hpK,

2 2 2
—127 h?p?K,+97 h?p?K; —4 7 hp?K, + 7 p?K; +3 v hp?K,; +4 v hp3K,

2
— v hp?Ky — v p*Ky) 7,
+ (—3 7 yhp+3y—8yp+12 7 hp?y+3a,+3 7 a, —3hpa, —6pa, —3 7 hpa,
2 2
—3 v hpa,+37h?p?a,+37 hp?a,—3 7 h?p3a, +4pa, —8hp?a; +4h?p3a,
—2 7 pa; +16 y hp?a; —8 y h?p®a; — v yp? —6 v yhp® + 5yp* —5 v hp®y —3 7 pa,

2 2 2 2_
+3hp?a,+3p?a,— 67 pa; +64 pa,—87 hp?a;+47 h?p3a;—57 yp?

2 _ 2 2 _ 2_ 2 —
+57 hp’y+ v pa;—37 p’azt3yhpia +271yp+3y yhp*—37 h?py

+ 7¥p?) xi

+ (3a,+3 7 a, —3hpa, —8pay—37 pa, +8hp?a, 4 3y —8yp+6 v hp?y+9 7 hpa,

2 2 2

—3 v hpa,+37yh?p2a,+37 hp?a,—37 h?p3a,+37 yhp?—37yhp
2 2 2

—37 h?p’y+5p?a, —Shp*a, +5yp? =5y hp®y+57 pa,—57 pa

2 2
+5yhpa,—67yp*+57 hp3y+27Fp—3yhp?a,+ yhp®a, + v yp?) x3
+ (6—67hp—3 v pa,+37hpa,+3a,—3hpa,—3 v yp+3 7 yhp+3y—3yhp—p
+7p) zf
+ (6—67yhp—3 v pa,+37hpa,+3a,—3hpa,—3 v yp+3 7 yhp+3y—3yhp—p
+7p) z5

2 2

+ (67 yhp+16yp—6 7 hp?y+ 15pa, —4 7 h3p3a; +61 yhp?—67 h%p2a,
—4pa, +8hp?a; —4h?p3a; +8 y pa; — 16 y hp?a; +8 v h?p3a, +6 v yhp? —4yp?

2 2
+4 v hp3y+3 v pa, —2hp?a, —2p?a, —3 7 p%a,—4 7y pa;+87 hp?a,

2 2 _ 2 _ 2
—67 h?pia;+4y yp®+67yp®—127 hp*y—87 pa,+27hp’a,+3 7 pa
84



2
+2v p?a,—2 v hp3a,—6a,—617a,+6hpa, +12 v pa, — 12hp?a, —6y
2 2
—12 v hp?y—6 7 hpa, +6 v hpa, —6 7 h?p?a,—6 7 hp?a,+6 7 h?p3a,
2 2
—67 yhp?+6yFhp+67 h?p3y—6p?a,+6hp*a, —6yp* +6 v hp’y—9 7 pa,

2 _ _ 2 _
+67 p*a,—67hp3a, —4 vy yp+3hp?a, —6y yhp—pa, —hp3a, +2 7 hp?y)

X1X2
+( —6hpa,; +6(hp)?a; —6 7 a; +10y hpa; —12 y h?p2a, +4 v yp— 6y + 8yp—6a,

2 2
—3 v a,+6hpa, +6pa, +3 7 pa, —6hp?a, +6 y hp—3 7 h?p?—617 hp?a,
2 2 2
+37 h’p’a;—3yh?p?a,—77 yp*+37 yh?p?+2p—27hp®—3 7 p’a,
2 2 2
+67hp*a, —2yyp?—2yhp® =27 p+27 hp?+37 p’a;+37 yp?+67pa
2 2 2 2 2
—67hp—8 7 hp?a; +67 h?p?a;+37 h?p%>+4q yhp?—37 yh?p?+2pa,

2
—2hp?a; —2 7 p?a; +4 7 hp?ay—2 v yhp® +2 7 p?a;) x17;
+ (6hpa; —6(hp)?a; +6 7y a; =10 y hpay +12 v h?p?a, —4 v yp+6y—8yp+6a,

2 2
+3 v a, —6hpa, —6pa, —3 7 pay+6hp*ay=—6 yhp+3 1 h?p?+67 hp?a,
2 2 2
—3 7 h?p?a,+3 7 h?p?a,+77 yp>—3vy yh?p?—2p+27hp?+3 7 p3a,

2 2 2
—67hp*a, +27yp? +2yhp® +27p—27 hp?—37 p?a;—37 yp*—67pa
2 2 2 2 2
+6yhp+87 hp?a; —67 h?p2a; —37 h?p?—4¢ yhp?+3¢ yh?p?—2pa,

2 2 o 2 = 2 _ 2 2
+2hp?a; +2 7 p?a; —4 v hp®a; +2 v yhp? —2 v p?a;) x12;

+ (6a,+6 7 a, —6hpa, —8pa, —4 7 pa, +8hp?a, —4 v yp+6y—8yp+2 v yhp?
+4y "hp?a, —2p+2 7 hp?+2 7 p2ay—4 7 hpPa, +2 7 Jp> +25hp> +2 1 p

—27 hp?—27 pa—27 ypP+27 Fhp?) %oz

+ (—6a,—6 7 a, +6hpa, +8pa, +4 v pa, —8hp?a, +4 v yp—6y+8yp—2 v yhp?

2
—47 hp’a, +2p—27hp? 27y p?a, +4 7 hp*a, —27yp® —2yhp® —27p
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2 2 2_ 2_
+27 hp®+2y p*a,+27 yp*—27 yhp?) x,7,

+ (—12412y hp+6 7 pa, —6 7 hpa, —6a, +6hpa, +6 7 yp—6 v yhp— 6y + 6yhp
F2D 29 P)Z1Zy = O e (4.22)
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